Review sheet 2 Kinematics

Multiple Choice
| dentify the |etter of the choice that best compl etes the statement or answers the question.

1. What is the speed of an object at rest?

a. 0.0m/ c. 9.8m/
b. 1.0 m/: d. 9.81m/
2. Which of the following is the expressiondoerage velocity?
a. Ax C. Vag=AxeAt
s = —
arE _&f
b. M d. v, +v
voo=— o= s
arvE ﬂx avg 2

3. In addition to displacement, which of thkofving must be used for a more complete desaoniptif the
average velocity of an object?

a m C. At
b. kg d. Ax
4. A dolphin swims 1.85 km/h. How far hasdoéphin traveled after 0.60 h?
a 1.1kn c. 0.63kn
b. 2.5kn d. 3.7 kn

5. A hiker travels south along a straight fath.5 h with an average velocity of 0.75 kmHern travels
south for 2.5 h with an average velocity of 0.90knWhat is the hiker's displacement for the tartgl?

a. 1.1 kmto the sou c. 3.4 km to the sou
b. 2.2 km to the sou d. 6.7 km to the sou
6. Acceleration is
a. displacemen c. velocity.
b. the rate of change of displacem d. the rate of change of veloci
7. Which of the following is the expressiondoceleration?
a. M C. a=AtAv
a=—
M
b. _ E d. V=V,
a = A a =
L -t
8. When velocity is positive and acceleraisonmegative, what happens to the object's motion?
a. The object slows dow c. Nothing happens to the olct.

b. The object speeds | d. The object remains at re
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What does the graph above illustrate about acdilafa
a. The acceleration is conste

b. The acceleration is ze

c. The acceleration decreas

d. There is not enough infoiation to answe
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What does the graph above illustrate about acdalafa
a. The acceleration varie

b. The acceleration is ze

c. The acceleration is conste

d. The acceleration increases then becomes cor

A toy car is given an initial velocity ®0 m/s and experiences a constant accelerati2i oh/S. What

is the final velocity after 6.0 s?
a. 10.0 m/: c. 16 m/
b. 12 m/ d. 17 m/
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A shopping cart given an initial veloafy2.0 m/s undergoes a constant acceleration ah&h What is
the magnitude of the cart's displacement aftefithied.0 s of its motion?

a. 100n c. 32nm

b. 55nm d. 80.0n

A race car accelerates from 0 m/s to 80sOwith a displacement of 45.0 m. What is the sletd
acceleration?

a. 2.00 m/? c. 10.0m/?

b. 5.00 m/? d. 15.0 m/?

A marble accelerates from rest at a cohsdite and travels for a total displacement ofrdidh 20.0 s.
What is the average velocity of the marble?

a l.lm/ c. 4.4m/s

b. 2.2m/ d. 0.0 m/

A soccer ball is kicked horizontally. Wisaits average speed if its displacement is 21dfter 4.00 s?
a. 525m/ c. 14.4m/

b. 8.75 m/: d. 2.63m/

A curious kitten pushes a ball of yarreat with its nose, displacing the ball of yarns51@m in 2.00 s.
What is the acceleration of the ball of yarn?

a. 11.0 cm/? c. 1l4.4cm/?

b. 8.75cm/? d. 4.38 cm/?

A sports car accelerates at a constanfrah rest to a speed of 27.8 m/s in 8.00 s. Wéhidie
displacement of the sports car in this time int&tva

a. 55.0n c. 111 n

b. 77.0n d. 222n

Which of the following units are used teasure free fall?

a. mjs C. mes

b. m/& d. m¥s?

Which of the following is a value for theceleration of objects in free fall?
a. 9.81m/? c. 9.80 m/?

b. -9.81 m/? d. -9.80 m/?
Acceleration due to gravity is also called

a. hegative velocity c. free-fall acceleratior
b. displacemen d. instantaneous veloci

The baseball catcher throws a ball véigicgward and catches it in the same spot agutms to the
mitt. At what point in the ball's path does it exigeice zero velocity and nonzero acceleration@astime
time?

a. midway on the way L

b. at the top of its trajecto

c. theinstant it leaves the catcher’s h

d. the instant before it arrives in the catcher’s

A rock is thrown straight upward with aitial velocity of 24.5 m/s where the downward decation
due to gravity is 9.81 nfisWhat is the rock's displacement after 1.00 s?

a 981n C. 245n

b. 19.6n d. 294n

A rock is thrown straight upward with aitial velocity of 19.6 m/s where the downward decation
due to gravity is 9.81 nfsWhat time interval elapses between the rocksgotirown and its return to
the original launch point?

a. 4.00: c. 8.00:
b. 5.00: d. 10.0¢
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A baseball is released at rest from thetdhe Washington Monument. It hits the grountéraflalling for
6.00 s. What was the height from which the ball ragpped? (Disregard air resistange: 9.81 m/4)

a. 150.0n c. 115n

b. 177 n d. 210.0n

A coin released at rest from the toptofager hits the ground after falling 1.5 s. Whathis speed of the
coin as it hits the ground? (Disregard air resistag= 9.81 m/3)

a. 15 m/ c. 31mf

b. 21 m/ d. 39 m/

A rock is thrown from the top of a clifftivan initial speed of 12 m/s. If the rock hite tiround after 2.0
s, what is the height of the cliff? (Disregardraisistanceg = 9.81 m/4)

a 22nm C. 44nm

b. 24n d. 63

A tourist accidentally drops a camera feo#0.0 m high bridge. f = 9.81 m/8and air resistance is
disregarded, what is the speed of the cameréhits the water?

a. 28.0m/ c. 56.0 m/:

b. 31.0 m/: d. 784 m/:

Human reaction time is usually about 8.20your lab partner holds a ruler between yaugér and
thumb and releases it without warning, how far yaun expect the ruler to fall before you catch it?
(Disregard air resistancg= 9.81 m/3)

a. atleast4.0c c. atleast16.0c
b. atleast9.8c d. atleast19.6 c

When there is no air resistance, objdda#ferent masses

a. fall with equal accelerations with similar displawnts

b. fall with different accelerations with differentsgilacement
c. fall with equal accelerations with different disptanents

d. fall with different accelerations with similar disgement:

Objects that are falling toward Earth move
a. faster and faste c. at a constant velocil
b. slower and slowe d. slower then faste

Which would hit the ground first if dropipeom the same height in a vacuum, a featherrmetal bolt?
a. the feathe

b. the metal bo

c. They would hit the ground at the same ti

d. They would be suspended in a vacL

Which would fall with greater acceleratiorm vacuum, a leaf or a stone?
a. thelea
b. the ston
c. They would accelerate at the same
d. Itis difficult to determine without more informat.
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1. A
2. A
3. C
4. A
5 C
6. D
7. B
8. A
9. A
10. A
11. D
12. C
13. C
14. B
15. A
16. B
17. C
18. B
19. B
20. C
21. B
22. B
23. A
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26. C
27. A
28. D
29. A
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